1.2 The Span of a Set of Vectors

Definition: The Span of a non-empty set of vectors
S=A{v1,02, ..., 04} from R” is the set of all possible linear

. . . N %:AAL
combinations of the vectors in the set. We write:

o
% Sp[l?’l(S) = Spm({?l,?z, ,Z/e}) /[\/7
= {xﬁ}l +X27/)2 S 000 +X/€7/)/€ |

X1s X2y -.0s Xp € R},

vV

. o e — — —
We note that the individual vectors vi, vs, ..., v, are all
members of Span(S), where we let x; = 1 and all the other
. o — . .
coefficients 0 in order to produce v;. Similarly, the zero vector

H ————

0, is also a member of Span(S), where we make all the

coefficients x; zero to produce 0 ,,.
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Theorem: In any R" : Span({ﬁ,&) = {6),1} /

) -

XD:O

- o —
Theorem: Forall vy, va, ..., vy € R" : ot

Span( {0, %1, %2, ..., %} ) Y4

= Span({v1,va, ..., T}k})§Q

Theorem: R" = Span({ei, ea, ..., en}). X\F?% \/

DLIJ‘Qo\D)Lﬂ \{’PG\J\EOL!,

> D )
Rle: LX), r, e ¥a Y € KT PO T Mty

2 Section 1.2 The Span of a Set of Vectors



The Span of One Vector in R?

Example: Suppose that vV = (5, 3) € R2,

Describe Span({v }).

= %v*t:/) \{é\pé

(’GQ& a ﬁl}\r\l \o

W plwne

Section 1.2 The Span of a Set of Vectors



The Span of One Vector in R’

Example: Suppose that w = (-2, 1,-4) € R3.  Describe
Span({v})

= iftj \(ﬂ(ernﬁ

%ﬂqu Gire %'«PGLL\

<y
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Lines in R”

Definition — Axiom for a Line:
(! '

Ifv € R” is a non-zero vector, then Span({v})|is geometrically a
line L in R” passing through the origin.
L ——=
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The Span of Two Parallel Vectors

Example: Suppose that v = (=15, 10) and w = (12,-8) € R2,

Describe W} ).

. HRIEI
\/ 1Q [’lecp_ﬂa)w‘{\ "B l\
VW 3l<6/fl so P

C-1S)007 < iz, 78> 0

- - , 1S =\l — k= — 5/ J
Span (10,93) = a Live ] o L'J

O = [QC" - «5_ V4

T W Uekw
W

—
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Theorem: If u and v are non-zero vectors in some R” which are

parallel to each other, then:

Span(ﬁ, V}) = Spgn({V}) = Span({u }).

P - -3 >
" y\d T VA= ‘SP&"‘(?“’\V
Y N -) 3
oy llU J keR sed u=kv N

Ccaler
s says xla '\-Xx? C S?W‘C?VQSB,
So Goan [ TGNT) & Spam( v 1)
2 - ~
vute s (B 2 g (B 5N,
ot x\&e Sfcxn(i?k’x\a let X, =0 T

~ ) 2 - > 29
X\\i_i x\\k+0\/ = x\\l«-xl\/ EQPW*(SZL'{,V\LQ)

e v —

This g2 Spean (583 @ s (T VD, .
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The Span of Two
Non-Parallel Vectors in R?

> \Q \g
o J

Example: Describe Span({(5,3),(-1,2)}) in R%
¢ x <t 15

=
D° watt b TEK Y Y. \; Lﬁd)%

]
-

> = L= < %g.—-’t)'\}%%—r)__l-_>
CO‘\’\ \oCDJ‘[‘/t\



Theorem: Ifu, v € R? are non-parallel vectors, then:
ORI
In other words, any vector w € R? can be expressed as a linear
combination:
wori+s,  yp!

W
for some scalars 7 and s.
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The Span of Two
Non-Parallel Vectors in R>

Definition — Axiom for a Plane in Cartesian Space:

If 22 and 7 are vectors in R? that are not parallel to each other,
then Span({u, v}) is geometrically a plane I1 in Cartesian space
that passes through the origin (IT is the capital form of the
lowercase Greek letter 7).

l\jP El I\W . (DMK |

Span({u,v}) = I1

Example: Span({(-2,1,-3),(5,4,-3)}).
quv% WPOLS\/\ ‘k/\/ul oﬁﬁ‘\y\ D
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The Cartesian Equation of a Plane

Definition: The Cartesian equation of a plane through the
origin in Cartesian space, given in the form\g = Span({u, v} )%

— —
where # and v are not parallel, has the form:

ax + b)’ +cz = 0, < q&fgﬁ 0F3<XLL7;“Z'.>:O
_— nNe =0
for some constants, 2, & and ¢, where at least one coefficient i

non-zero.

Ve, €& Plove
| = %PUT—FS?

Vs E/Rj
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Translation of a Span

Q= {§+Z|Ze Span(S) },
_ PN RN S [0 clSQ\r'\e
- SLqr*hktﬁ”Lzﬁ \)\&L - SN

_)
for some fixed non-zero vector g € R”.
g.‘\(,\\f\ ‘\ S \/‘\\"\Q

N
AN

S?Q"(S)
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General Lines in R”

Definitions: A line L in R” is the translate of the Span of a single

non-zero vector d € R” : & Line PQSS’%
PO\M‘ P
Db rCChom ajﬂ j

_)
— . .
for some vector x, € R”. We may think of 4 as a direction vector
_)

L= {¥p+t;l)|te [R},

of L, and any non-zero multiple of 4 can also be used as a
direction vector for L.

We see that by setting ¢ to zero that x, is a particular vector on
the line L. We will also say that two distinct lines are parallel to
each other if they are different translates of the same line through
the origin.
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General Lines in R3

Example: Consider the line L in Cartesian space passing through
the point (=5, 2,-3) and pointing in the direction of (2, 4,-7).
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Definition: A line L in Cartesian space passing through the point
—

(x0, Y0, 20 ), and with non-zero direction vector d = (a, b, ¢) can
be specified using a vector equation, in the form:

{x, 9, 2) = (x0, Y0, 20) + K a, b, c)} where t € R.

_)
I none of the components of 4 are zero, we can obtain symmetric

3 SG\\J{ @\r £

equations for L, of the form:

A-gsme —Xo

AL CFO K = Xof ta, — €= =

17) Lﬁ‘/’\ﬂm'\’:’c’\j.—\; {_: Y ~Yo
oot te =
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General Planes in R"

Definition: A plane 11 in R” is the translate of a Span of two
non-parallel vectors nand v € R” :

HP: {x=%X,+r+sw|rseR},

_)
for some x, € R".

t Po\ro\NMQ By o

"\

O {)10\"*—
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Some creative ways to specify a plarie in Cartesian space:

® requiring the plane to contain three non-collinear points.
® requiring the plane to contain two intersecting lines.

® requiring the plane to contain two parallel lines.

Example: Find parametric equations and a Cartesian equation for

the plane Il passing through A4(1,-3,2), B(-1,-2,1) and

C(2.3,-1).
B - N
A W:% xA”V%tf t LV %6(’2}
-)
N 7 ‘—‘)yﬁﬁb
=it A
°
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Definition: A plane Il in Cartesian space can be specified using a
Cartesian equation, in the form:

ax+ by + cz = d,

for some constants, 2, b, ¢ and 4, where either 2 or 6 or c is
non-zero. It is not unique, because we can multiply all the
coefficients in the equation by the same non-zero constant 4, and
the resulting equation will again be a Cartesian equation for IT.

The plane passes through the origin if and only if d = 0.
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The Span of Three Non-Coplanar Vectors

Theorem: If u, v and W are non-coplanar vectors in R3, that is,
none of these vectors is on the plane determined by the two

others, then:

Span({u,v,w}) = R3,

-

In other words, any vector Z € R can be expressed as a linear
. . - — — —
combination, z = ru + sv + tw, for some scalars 7, s and t.

If u, v and W Are Non-Coplanar Vectors in R3,

Then Span({u,v,w}) = R3
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